First English Exam

The first year level 2015/2016

Part one : Choose the correct answer. N -

i- if the patient’s heaith is in the process of returning to normal, so the patient’s
condition is.............
@ Recovered. (B improved. C- relapsed. D- detoriorated.
2- The main part of the digestive system are....... .

P& Large intestine. ‘W- 3355%5 'S apélomen. [ small bowel.
3- To examine the patient for enlarged abdominai organs. Cross out the two first feel...

Liver. E gall bladder. @_r;_g?:t kidney. C-leftkidney.
4- The main part of the respiratory system are........ -
a- Lobes. -‘@}airways. C- windpipe. [D3 lungs.
"57 To be surgon you need to be.....
@ Fit to practise. B-thinkwell. C- able to make decisions. @- act quickly.
6- When a patient suffers from a disorder and a probiem in his brain that cause
difficutties in reading, speliing and language. He is suffering FEOHT o ccinnes
- a- Dysgi?agia. B- dystiria. @- dysphasia . @dyslexig. "
" 7- The central nervous system controls the ....... ;
a- Thefeelings.
®) The motor functions.
@ The sensory.
d- The senses.
8 Cross out the same meaning of “ the loss of consciousness for a short time”’.
Have black out.
Faint.
¢c- Fit.

g} Convuision .

9- Cross out the wrong combined words.

&

a- Urinary incontinence.
b- Ward round.
Jcl Officer house.
Prodromal attack.
10- Cross out the two correct stressed words.
@/ ‘graduate.
b- gra’'duate.
c- gra'duation.

gradu’ation.



%

Part two : choose juste one correct answer.

\

Cross out the organ which is affected when you have got ulcerative colitis.
a- Abdomen b- small bowel. (C)iarge bowei. D-stomack.
2- The front part of your leg above the ankle and below your knee is.....

1

a- Heel b-toe. @shin. D- ankle.
3- The bladderis.......
a- Anorgn. B-an internal part of the body. C-a muscle. @muscular organ.
4- Which one of these parts is the part of the body where your arm joins your hand ?
a- Upperarm. B-armpit. C-elbow. (D) wrist
5- A psychiatrist must be good at .....

a- Giving advice. :
67 Speaking with patients.
Ve Counselling.

d- Giving treatment.

6- Which function is affected when we have tinnitus ?
a- Deafness. B-balance. C-unsteadiness. @ hearing.
7- Cross out the less common function of the body.
a- Speaking.  B- menstruation. @sweat. D- swallowing.
8- Cross out the main part of the lower limb.
A7 Knee. leg. C-foot. D-kneecap.
9- A male patients describing angina pectoris. Cross out the radiation of the pain (from
where to where the pain is radiated).
[@F Chest- neck- shoulder-arm.
b- Neck- chest- shoulder- arm.
c- Jaw- chest- shoulder- arm.
d- Chest- shoulder- heart- arm.
10- Patient has got a blurred vission this means (in french language) that ........
a- 1l voit double.
@ Il voit flou.
c- |l porte des lunettes.
d- !l a une bonne vue.
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